
SAP ABAP table T5F2M {Sickness compensation period}

T5F2M

MANDT [CLNT (3)]

WERKS [CHAR (4)]

PERSG [CHAR (1)]

PERSK [CHAR (2)]

ABSTP [CHAR (1)]

AMOIS [NUMC (3)]

ENDDA [DATS (8)]

SEQNP [CHAR (1)]

I549B [CHAR (2)]

T000

MANDT [CLNT (3)] T5F2M-MANDT = T000-MANDT 0..N

1

T500P

MANDT [CLNT (3)]

PERSA [CHAR (4)]
 T5F2M-WERKS = T500P-PERSA 

0..N

1

T501

MANDT [CLNT (3)]

PERSG [CHAR (1)]

 T5F2M-PERSG = T501-PERSG 

0..N

1

T503K

MANDT [CLNT (3)]

PERSK [CHAR (2)]

 T5F2M-PERSK = T503K-PERSK 

0..N

1


